
1

(1)

(1)

9g Servo Motor

3

Mini Pan-Tilt Kit

Nut M2(2)

Screw M2×10(2)

(1)

(1)

Screw M4×8(1)

                     (1)

※为了避免用力过大使零件断裂，请使用小力拧螺丝。

4

(1)

Nut M2(2)

Screw M2×10(2)

Screw M4×14(2)

Nut M4(2)

2

(1)

※Gently tighten the screws to avoid any fracture caused by too much fouce.



6

5

(1)

(1)

Screw M4×14(2)

Nut M4(2)

7

(1)

(1)

Screw M4×8(1)

8

(1)

(1)

(1)


	页 1
	页 2

